H o
2023 = 20llaF LBHSIH XIS ed Dt
M XS es
M AHNHSAZH(XSLRD)
chel: Jl2Ad| (CHl: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
PNy} 42,745,899 41,635,768 1,110, 131
= 9,500
= 11,640,000
[ 1,722,430
= 24,733,969
CH 4,640,000
Y 2AGH|(XSLE ) 32,100 31,760 340
[=&d| 32,100 31,760 340
J|l=3&4| 32,100 31,760 340
201 L2 3| 21,300 20,960 340
01 At22t2ld| 17,300 16,960 340
Ogit=24] 12,500
DISMRES 7 100, 000 %200 2,000
OAIRI1D| & SAES 9,000,000 9,000
0JIEr==8HI 1,500,000& 1,500
O=Z(XSLEL HRFA)
8,000 *2021%304! 4,800
02 S=2Z| 4,000 4,000 0
ORER= = 4,000,000 4,000
202 044l 10,800 10,800
01 20| 10,800 10,800 0
Oo2loibl(=SZl)
180,000 *5 & S+ 128 10,800
YA 2HE(XSLAD) 3,600 3,600 0
SEMTHEH 3,600 3,600 0
ol A A 3,600 3,600 0
203 LRF&| 3,600 3,600 0
04 EM2IERFLI 3,600 3,600 0
ORN2IHERFE 300,000 %122 3,600
SAIHIE 2] 115,900 134,930 219,030
SAIHE 2el 115,900 134,930 219,030
SAHEHR2Y 62,900 100,930 A38,030
201 L2 3| 24,300 48,330 A24,030
01 At22t2ld| 24,300 48,330 A24,030
OZHER2S BN+
100,0002%212163] 12,600
O(ZAlLAE)SSAARS &Y
100,0002%1501x33] 4,500
OdlzE1= 2,000,000 %23 4,000
OSHUI(ZAIHELRFA)
8,000 %501%80A! 3,200
202 044l 15,600 15,600 0
01 20| 15,600 15,600
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A RN

.

=,

T AIHIE 2

2l SAIE 22

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
S EEEEE
200, 000501128 12,000
OZ2A2IHE ZHAS SHOHI(ED I &
=) 100,0002*301 1224 3,600
203 AR 3,000 3,000 0
03 AIHE=RSRETIH| 3,000 3,000 0
OXILAD AIMAREX
3,000,000 3,000
207 1IN 20,000 34,000 A14,000
01 AR 20,000 34,000 214,000
OZDI0ITSAIE SHHERHHE 2B 2A
20,000,000 20,000
SAHEREMH 2= 53,000 34,000 19,000
201 LB 53,000 34,000 19,000
02 222 53,000 34,000 19,000
OZAIHEHSHA(PIS) DB B&st S22l
19,000,000 19,000
OZAIHEHERAI(UPIS) Mbl SR
15,000,000 15,000
OZE XX 2(KRAS) DB |XI2H2l
19,000,000 19,000
CAITHAY 11,467,105 6,879,875 4,587,230
z 761,000
= 10,706, 105
XEIHsSsE TADIBFEA 11,308,060 6,767,875 4,540, 185
z 761,000
= 10,547,060
CAITHA R 21,660 15,170 6,490
201 LB 12,060 7,970 4,000
01 AFRZH2IHI 6,060 4,370 1,690
OSZH|(SAITHAMH R EXI)
8,000 *401x80A! 2,560
O AITHA SEAIY 29 OIS EBals
g 100,000&%7Q1x53] 3,500
02 2229 6,000 3,600 2,400
OZAIBR(4NA) 2K MASU2
500,000 128 6,000
202 Ot 9,600 7,200 2,400
NENE 9,600 7,200 2,400
O (Al A S 2 4=5H)
200,000 %401 122 9,600
TAXABE FHH| 398,250 648,250 A250,000
201 LB 60,000 0 60,000
02 2229 60,000 0 60,000
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2A:

K ZH

=Sy
CA|KHAH

&2l XHIss AR (che]: X Sl)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OXEM LIAEL OV slda & dIAER
5,000,0002 122 60,000
301 LetE A 8,250 8,250 0
11 BAAHIXIRS 8,250 8,250
OZAIXOIZS SAFH 2 HMHEH X
& 37,5004 +5501%4 3] 8,250
401 A& L = 0HY] 330,000 640,000 310,000
01 Al&H 330,000 640,000 310,000
OZAIZE AIEZ SNBRIAR
20,000,000 20,000
OEAISE 2Dl At 60,000,000 60,000
OBHIS012I01BY SO0IE 2EAY
250,000,000€! 250,000
CAHE 2 400,000 400,000 0
401 Al&HIZL = 0HY] 400,000 400,000 0
01 Al&H 400,000 397,120 2,880
O3M HEZAIHEEZ HEZA
400,000,000 400,000
NP EPNEEWEES 633,969 498,564 135,405
401 A& UL =0HH] 633,969 498,564 135,405
01 Al&dl 630,000 495,000 135,000
OFAHEEE OHEEE XM CAALY
100,000,0002! 100,000
OZAIXY T2 ZHIIAY
80,000,000 80,000
OMEHEZ SRIZ2IAZ (L=1.74kn)
10,000,000 10,000
OCADﬂsICE LSER olNSs TYHEEAL
& 100,000,0002 100,000
OZAIXIS AIDHK| BHE S OHEAIAE 244t
& 100,000,0002 100,000
OFAIXIS T2FH OINSE SATH| ALY
150,000,0002! 150,000
OFAXN T ALKT BoALY
50,000,000 50,000
OnY HEE2 U SAZLIAY
40,000,000 40,000
03 A& 3,969 3,564 405
OZAHEAILRXZ S AILLHY]
630,000, 0002 *0.63% 3,969
|01 & T AIHIZ AL R 2,970,656 1,279,590 1,691,066
401 A& UL =0HH] 2,970,656 1,279,590 1,691,066
01 Al&H 2,960,000 1,275,000 1,685,000
OMOIZAIHE E2(AR2-8554) DIZEX
BA(DSH) 480,000,000%! 480,000
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2A:

Al & &1t

Mu: AT
&l XHIIss TAPD|EIES (che]: X Sl)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
DN ARG 2 (A3 1115M) ZolS A
970,000,000 970,000
OZAIHEER IS (ABAIRH 2 DXt
2) HUIAIS 1,270,000, 000! 1,270,000
eI ENERIE
200,000,000 200,000
ORHBAIL(ER) HH(HF)
40,000,000 40,000
03 Al&=2CHH 10,656 4,590 6,066
OZDIDIT ST AIHBAILEH AlLSOHHI
2,960,000, 00040, 36% 10,656
ENEEERE 5,022,525 2,035,301 2,087,204
401 NEU L= 5,022,525 2,035,301 2,087,204
01 A2 5,010,000 2,028,000 2,982,000
OMES HXZ ABCE HEBA
500,000,000 500,000
OMBEZANHEZZ(Z22-35K) 22
EN 300,000,000 300,000
OMHS3R =8 ZEEIE EAAIY
530,000,000 530,000
OMEE 2H0IS =AE HXIZA
70,000,000 70,000
OME HB0I2 TAHEEE AZTA
560,000,000 560,000
OANE S2I0I2 TAHEEE AHTA
750,000,000 750,000
OXIZI0NE XA L A2 EHAIY
300,000,000 300,000
OMEES SIFDIE SXITA
1,000,000, 000! 1,000,000
OMHS HEYIIA AST2 SHRTA
1,000,000, 000! 1,000,000
03 AlE=CHH| 12,525 7,301 5,204
OTAIZZBIARY IS
5,010,000, 00024+0. 25% 12,525
Noe IENA(SEZAR2IZ) 1,261,000 637,000 624,000
R 761,000
= 500,000
401 AU L= 1,261,000 637,000 624,000
R 761,000
= 500,000
01 A2 1,261,000 637,000 624,000
O=0|22 A2 KTAA
1,261,000, 0008 1,261,000
7 761,000
o 500,000
AES CATA F=o=2AAY 58,000 204,000 146,000
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Sk CMXH*O
=l NSHobss TADIBEY (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
401 AIEHI L2 0HY] 58,000 204,000 146,000
01 Al&H] 58,000 204,000 146,000
OMESATIX BE 2 2 SXIZ2IAL
& 58,000,000& 58,000
MEC CAITHA Z=0I=RIAN 100,000 100,000 0
401 AlEHI 22 0HY] 100,000 100,000 0
01 Al&H] 100,000 100,000
OMZEHATHX OLAZ LA DA
100,000, 0002 100,000
SN CAITHA F=01=RIAN 40,000 40,000
401 AlEHI 22 0HH 40,000 0 40,000
01 Al&H] 40,000 40,000
OZHSSH Nolcz S5 A HHIZA
40,000,000 40,000
AFH TAITHAY FOIS2IALY 222,000 150,000 72,000
401 AlEHI L2 0HH 222,000 150,000 72,000
01 Al&H] 222,000 150,000 72,000
OAMFETAIHES2(Al2I0IE S XI7) ot
w 21T EXIBAl 150,000,000 150,000
OAFECAINHBC 2 (LB R~H A" S
Z) OtAR THEEZA 72,000,000 72,000
CHEO TAITHA FOISIALY 80,000 80,000 0
401 AlEHI L2 0HH 80,000 80,000
01 Al&H] 80,000 80,000
O ZAIHEZ2(AR3-50846) HHIZA
80,000,000 80,000
AIOH CAITHAY Z=01=5RI AL 100,000 120,000 A20,000
401 AlEH| 22 OHH 100,000 120,000 A20,000
01 Al&H] 100,000 120,000 A20,000
OQIOICAIHE T 2(AZ2-8054H) EREH|
SAt 100,000, 0002 100,000
CAITHA =S ALY 159,045 112,000 47,045
CAITHA R S A2 D) 111,984 112,000 A16
101 QI124H 99,384 98,000 1,384
M IIHR22IEES 99,384 98,000 1,384
OZAITHAMAIHE 29 el24H|(291) 99,384
0123 2,086,000 %201x 122 50,004
0J|Et==E 460,000 %201+ 122 11,040
0HE 4G 2,086,0002%201%25|*60% 5,007
08/=2 8,900,000 x201%13] 17,800
0=2%= 137,532,000 %4 5% 6,189
0HE2E= 137,532,000 %3.545% 4,876
IRLEE= 4,876,0002%12.81% 625
0UEZE= 137,532,000 %1.75% 2,407
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A NG
S TAITHA

el SAITHMSE A CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0tHHEE = 137,532,000 1% 1,376
201 LBHR2YH 12,600 14,000 A1,400
01 AF22t2It] 9,000 9,000 0
OZAITHA HHEA 29 9,000,000 9,000
02 2224 3,600 5,000 A1,400
OZAITHMXIAEEH 29 3,600,000 3,600
SAX T CAITHAI AL 47,061 47,061
101 Q14| 37,461 0 37,461
04 It 22T EE 4 37,461 0 37,461
OSAXT TAIHAS BRI RME! 22 2
244 37,461
022 1,892,00024 101128 22,704
0J|Et==E 430,000 %101x 12 5,160
USE=Eac 1,892, 00024 %101%25|x60% 2,211
EESE=: 3,933,0008/%101%13] 3,933
0=2%= 30, 134,000 %4 5% 1,357
HZEE= 30, 134,00024%3.545% 1,069
0L PE= 1,069,00024%12.81% 137
0EEE= 30, 34,0002 %1.75% 528
OMTHEE = 30, 134, 0002 * 1% 302
201 LBHR2%H 9,600 0 9,600
01 AF22t2it| 6,000 6,000
OSAXIT TAIHA SIXAME LH2H
Bl 6,000,000& 6,000
02 2224 3,600 0 3,600
OSAMXIT TAIHAY SHEXIAUME S22
] 3,600,000& 3,600
IHEALS 27,353,290 28,881,552 1,528,262
Fs 8,891,000
[ 1,464,500
= 12,357,790
CH 4,640,000
ENLAIY 13,581,290 14,518,552 N937,262
= 8,941,290
cH 4,640,000
SENLAIS2H 4,784,090 4,008,552 775,538
201 L2 122,760 56, 160 66,600
01 AF22t2it| 27,360 11,160 16,200
OSZHAXJLEH LBt £24]
4,000,0002 4,000
OYLHS A ZEINL AL PPT MIE
500,000 *44 2 2,000
OSSH(SENLAREA)
8,000 *421%804! 2,560
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2A:

Al & 1t

I SEINLAIY
T SEINUAIY (crol: )
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
P EEEEREEER RS
100,0002 *401%23] 800
OSXIB2IEl5| Aol BAAL
100,00024%501%43] 2,000
OB SE2E HIF
1,250, 0002 #4 ) A 5,000
O2t=X7 &2 2,200, 000%53] 11,000
02 2229 95,400 45,000 50,400
OAEE GHIAZS BIRA 22
200,00024% 128 2,400
HAXT KISEO| 00ICI0 AKSE 23}
e 200,000 %122 2,400
OUZIZS CISSEEIAIE 212
200,00024% 128 2,400
ONZENS U SSHHIAIIE 22
200,00024% 128 2,400
ORE0ISTH HMER 212
250,00024% 122 3,000
OZFABY 2OAIL 22
300,00024% 128 3,600
OSE2SHE(ASSRE) IR
6,600,00021% 122 79,200
202 it 4,800 6,000 1,200
ERCE] 4,800 6,000 1,200
OsENLARSH
100, 0002 #401% 122 4,800
401 AlEHIZ 00| 2,656,530 1,924,302 732,138
01 Al&H 2,647,000 1,920,000 727,000
FDXT SMUSHLAILE SXIR2IA
E 100,000,000 100,000
OQIOHHAIR A BEEXIE THAIY
1,020,000,0002 1,020,000
OREME 2322 TLAIY
1,400,000,0002 1,400,000
OURSE0IS Sl 2 SABAIN 22
SA 36,000,0002 36,000
0220 H30I2 3l TAA
56,000,000 56,000
OAFEE HRDIS S TAA
35,000,000 35,000
03 Al&SIHH| 9,530 4,392 5,138
OAlE =201 2,647 ,000,00024%0. 36% 9,530
403 XX RIS XH=01& 2,000,000 2,000,000 0
02 2 ZS0IHEHI== AT Y] 2,000,000 2,000,000
OAFESAIRA SEEAIIBAY
2,000,000,0002 2,000,000
N ENEIREINENEENE) 2,150,000 2,000,000 150,000
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2A:
X{XH -
o /e

cH):

Al & 1t
SENLAS

SENLAS

HEE

S B SRI(BH) - HRAY - BAS ol &k e lmE=]
IEEEEE] 2,150,000 2,000,000 150,000
01 A2 2,142,800 1,992,800 150,000
ODF2RISD| XISIHLAI (MRS FT0IS
) 400,000,000 400,000
OOFSOHSD| IHSIHSAN (K2 24012
) 400,000,000} 400,000
OOI2RIST| ISHSAIY (288 SZ0I2
) 400,000,000 400,000
ODF2RISD| XISIHZAI (AloH QDI
) 400,000,000 400,000
OOF2RIST| IHSIHLAI (RS ZA0I2
) 392,800,0002 392,800
OOI2RIST| ISHSAIY (288 =402
) 150,000,000 150,000
03 Al&=2CHH| 7,200 7,200 0
OAIE 21 2,000,000,00024%0. 36% 7,200
S2X RS A 2,007,200 3,500,000 1,492,800
401 AIZ0IZ2 0 2,007,200 3,500,000 1,492,800
01 AlZH 2,000,000 3,494,050 21,494,050
O=2IXIT HRIEA A
2,000,000,0008! 2,000,000
03 Al THH 7,200 5,950 1,250
OAl&20HH| 2,000,000, 00024+0. 36% 7,200
HERT CAHZA 4,640,000 5,000,000 360,000
CH 4,640,000
401 AEHI2 S0 4,640,000 5,000,000 360,000
oH 4,640,000
01 AlZH 4,627,472 4,991,500 364,028
OMEXIR SAITHLAIY
4,627,472,0008) 4,627,472
oH 4,627,472
03 Al&=2CHH| 12,508 8,500 4,028
OAIEZ= 0l 4,640,000,00024%0.27% 12,528
oH 12,508
BHS AR Z N AL 13,772,000 14,363,000 591,000
2 8,891,000
[ 1,464,500
o 3,416,500
NP2 SIAIY (=52 400,000 339,000 61,000
R 280,000
[ 36,000
@ 84,000
101 01248 107,000 108,000 21,000
7 74,900

- 342 -




SA NG
MM SEINLAIY
ol LEFSA0EMNEAIY CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ 9,630
= 22,470
M JIHR22IEE 107,000 108,000 A1,000
SEFUNEH 2 o_laal(:s@) 107,000
0122 2,431,68224x301x 122 87,541
z 74,900
[ 9,630
= 3,011
0F M Z Al 140,000 %301+ 122 5,040
oMl 100,00024%301x 122 3,600
0=pIi=2 96,552,000 *4. 5% 4,345
0HLEE= 96,552,00024%3. 545% 3,423
IRYLEH= 3,423,00024x12.81% 439
onEesE2 96,552,0002*1.75% 1,690
ISIEER 92,200, 0002 * 1% 922
201 L2 A 60,000 21,000 39,000
z 42,000
[ 5,400
= 12,600
03 BAFS | 60,000 0 60,000
oonseld s4 1s
600, 000 *507H 0tE+23] 60,000
z 42,000
[ 5,400
= 12,600
207 AP 188,000 105,000 83,000
z 131,600
[ 16,920
= 39,480
01 AR 188,000 105,000 83,000
OAlIF0IE BRI (0I20HICH3)
8,000,000 *5JH0}+S 40,000
z 28,000
[ 3,600
= 8,400
O#E0IS2HAE &It X
8,000,0002* 1702 8,000
z 5,600
[ 720
= 1,680
OUBHS AN ZINL ALY SSRAHXF TS
20,000,0002* 13 20,000
z 14,000
[ 1,800
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SA KL
ME: SEINLALY
el LPFSANENL A (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl RS2
= 4,200
O2ILRXXT 2435 3L
20,000,00021% 142 20,000
2 14,000
= 1,800
2 4,200
OAtg @2l & 29 2agl
20,000, 00021*374 2 & 60,000
2 42,000
= 5,400
2 12,600
OsZEgot HAE
20,000, 00021+2IH S S 40,000
= 28,000
= 3,600
2 8,400
301 LErEEZ 20,000 0 20,000
2 14,000
= 1,800
2 4,200
TEN T EE 20,000 0 20,000
ons2ld |4 1S
10,0002 %2021x50JH 0 2+23] 20,000
2 14,000
= 1,800
2 4,200
402 QI2ERF20[ 25,000 25,000 0
2 17,500
= 2,250
2 5,250
02 QIRERH=AIS B (0| ®KHE) 25,000 25,000 0
O2MAIY XI&(0HS0tE 2HSDI)
5,000,00024+5J40+2 25,000
2 17,500
= 2,250
2 5,250
M2 J| ZMEH I XL ALY 785,000 2,348,000 1,563,000
2 549,000
= 71,000
2 165,000
403 KX SHHIS XH=0( & 785,000 2,348,000 1,563,000
2 549,000
[ 71,000
2 165,000
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SA NSZEL
Hu: SENZAY
ol LEFSA0EMNEAIY (cro): =2l
SA - B - BRI(E) - MRAY - BaS e Gl HImS2
02 SISOt =X AS A 785,000 2,348,000 21,563,000
OMHIZHR! JIZMBHET LAY
785,000,000 785,000
= 549,000
& 71,000
i 165,000
Aot sESANE YA 4,311,000 3,007,000 1,304,000
= 3,018,000
& 388,000
i 905,000
403 AXISRISAH=01A 4,311,000 3,007,000 1,304,000
= 3,018,000
= 388,000
i 905,000
02 SIS0 Ut AAE ALY 4,311,000 3,007,000 1,304,000
Odlotd sESANE YA
4,311,000,000& 4,311,000
= 3,018,000
= 388,000
i 905,000
ST J|ZHENE T GAY 1,637,000 1,467,000 170,000
= 1,146,000
LS 147,000
i 344,000
403 AXIEHHSAH=Z01E 1,637,000 1,467,000 170,000
= 1,146,000
LS 147,000
i 344,000
02 SIS0 Ut AAE ALY 1,637,000 1,467,000 170,000
Oatdd J|zdEaHE X GAY
1,637,000,000& 1,637,000
= 1,146,000
& 147,000
i 344,000
NEH sESHNELHSNG(sEEY) 1,720,000 935,000 785,000
= 1,204,000
& 155,000
i 361,000
403 AXISRISAH=01A 1,720,000 935,000 785,000
= 1,204,000
& 155,000
i 361,000
02 SISO UEA=HAS A 1,720,000 935,000 785,000
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SN Kol
I SENEAL
ol LEFSAOEINE CEREERD
A - BE - BRI(E) - KIRA - BAS o Gl imE=T
ONES = ERE
1,720,000,000& 1,720,000
s 1,204,000
& 155,000
i 361,000
g% J|=dE) sSEE) 815,000 311,000 504,000
= 571,000
= 73,000
i 171,000
403 MRS 815,000 311,000 504,000
= 571,000
= 73,000
i 171,000
02 S| 24S0 ErAHH] 815,000 311,000 504,000
OS0! JI% SIS
815,000,000 815,000
= 571,000
= 73,000
i 171,000
ES2UHEHIAMY 3,750,000 0 3,750,000
= 1,875,000
= 562,500
i 1,312,500
403 MRS 3,750,000 0 3,750,000
= 1,875,000
& 562,500
i 1,312,500
02 SI12S0ICHEtAt A I 3,750,000 0 3,750,000
OdlSH Zef X+ ZHEHIANY
3,750,000,000& 3,750,000
= 1,875,000
& 562,500
i 1,312,500
SY J|I=MED AP (2EHH)) 354,000 0 354,000
= 248,000
& 32,000
i 74,000
403 MXIEHSK 354,000 0 354,000
= 248,000
& 32,000
[ 74,000
02 B 250 FIETAIZHI 354,000 0 354,000
Qulsa J| SA (22
354,000,000 354,000
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A KLU
MM SEINLAIY
ol LEFSA0EMNEAIY CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 248,000
[ 32,000
= 74,000
FOHE o FHEZINM 1,083,684 3,161,631 N2,077,947
= 9,500
[ 54,930
= 1,019,254
=01E =HEZNA 1,048,684 3,106,631 N2,057,947
= 9,500
[ 54,930
= 984,254
HIAFOl HEZHE AMHIAMZ 34,680 27,650 7,030
201 L2 A 13,080 14,450 A1,370
01 AFR22IHI 11,760 13,130 A1,370
OFEHAD el HHZ 800
OFEHHHE 100,000 %A 200
025 AAHIE 50,0002%5% 250
(REEEES 70,0002 +5% 350
OH=2A3| aalst
100,000 %1901%23 3,800
O2ZA=I} Jlalt2ay
100,00024%8921%33] 2,400
OZDAUSAOIR(AG| EAAE
100,0002 *401%33] 1,200
OSSFHUDRISHIHANG| AL
100,00021%521%23] 1,000
OSEHI(FHADPEX)
8,000 +4Q1x80A! 2,560
02 2229 1,320 1,320 0
OSAY X2 &3
60,0002 %122 720
OAXZTEHS(AHO| 3Y) T3
50,0002 * 122 600
202 Ot 9,600 7,200 2,400
NENCED 9,600 7,200 2,400
OO0HI(ZEHLP48)
200, 0002401128 9,600
401 Al&HIL S 0HY] 12,000 6,000 6,000
01 Al&H] 12,000 6,000 6,000
OSANY X2 3=
6,000,0002 %23 12,000
HAZEUCHT] J[BIAIE KIRAFS 120,864 120,864
401 Al&BIL20HY] 120,864 120,864
01 Al&H] 120,000 120,000 0
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2A NSt

HEM: oMY L FHEPINM
cel: s0E F=HERNA
S - BB B9I(EH) - NRAR - BAS ofl e Gl
OFATEHCIT] J|BFAIA XIRAFS
30,000,000 %4 T4 A 120,000
03 Al CHH 864 864
OFRIZEACIT| J|BAIA KIRAIY S0HH
120,000, 00024 %0. 72% 864
BIZI & H|AFS 42,600 43,500
[ 12,780
= 29,820
402 QI2HXH=20| & 42,600 43,500
[ 12,780
= 29,820
02 QIZFRF2 A E R (0| M THS) 42,600 43,500
OBIZAHIALY 42,600
0LBHXIE BIE HHI(EH)
1,200,000 *20S 24,000
[ 7,200
= 16,800
SYOIEXE BIT FHI(EH)
600,0002*315 18,600
[ 5,580
= 13,020
AP =22 H2 FHIAY 50,540 50,540
401 Al&HIL S 0HY] 50,540 50,540
01 Al&H] 50,000 50,000
OMIA 228 HS HHIAIY
5,000,000 %105 50,000
03 AlZSTHHI 540 540
OMAIA =222 A2 FHIAIY 20|
50,000,000 1.08% 540
=01 HOHQIZE IHEALY 19,000 19,000
= 9,500
[ 2,850
= 6,650
402 QI2HXH=20( & 19,000 19,000
= 9,500
[ 2,850
= 6,650
03 DI2FR|EFALIH] 19,000 19,000
OsHZE ZOfQIZ=E JHEALY
3,800,000 +5J+7 19,000
= 9,500
[ 2,850
= 6,650
ZEZ XA (RFRIAIY) 60,000 60,000
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2AM:

o IO Y FAHSZNA
B?Hel: SOE =i CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
402 SI2FAH=0[ A 60,000 60,000
01 BIRIXFEAI EE(RHHITN ) 60,000 60,000
OMET ZSFE 22IXBAY
60,000, 0002} 60,000
BIA 22 Bt UUFE ARAY 15,000 0 15,000
< 7,500
= 7,500
402 SIZHRHZ 0 & 15,000 0 15,000
< 7,500
z 7,500
02 SIZFRHZ A 2 X (01 R THE ) 15,000 0 15,000
OHZ20 Lis=% At 15,000, 0002 15,000
= 7,500
z 7,500
272 ZEZE 2 NS (01FHE) 6,000 50,000 44,000
< 1,800
= 4,200
402 BIZHRHZ0I & 6,000 50,000 144,000
< 1,800
= 4,200
02 SIZFRHZ A 2 X (01 R THE ) 6,000 50,000 144,000
OARE ZEFE 22IXBAY
12,000, 0002 17§ A550% 6,000
= 1,800
z 4,200
AIQIHAIR A ZEIHL ALY 600,000 2,450,000 1,850,000
403 XX SHHISRHZ0I & 600,000 2,450,000 1,850,000
02 BII2S0ICHEHRH=2 H /A 600,000 2,450,000 1,850,000
OPIAIRA AE L BRAUMFE A
CES= 600,000,000 600,000
CPTEDD | 9 OHAl 222 THAMY 100,000 0 100,000
< 30,000
z 70,000
401 AISHIZLSOHY 100,000 0 100,000
= 30,000
z 70,000
01 Al&H| 100,000 0 100,000
OCPTEDD | S OHAl B2 ZAAIY
100,000,000 100,000
< 30,000
= 70,000
EERE] 35,000 55,000 20,000
Zn2pe2Y 35,000 35,000 0
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S XALE D
ME: ZEHOIE U F=)EAINA
e gasae (Ctol:®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
201 LBt22y| 5,000 5,000
02 2Z=29Y| 5,000 5,000
O=SAZDS(NEHAIL, NFZDE) SX
2e| 2,500,000 %2J4 2 5,000
401 A& LSO 30,000 30,000 0
01 Al&ZH] 30,000 30,000 0
OXIZAAL & NFZ 0T JHIAY
10,000, 00024*37H A 30,000
EEEEE 2,687,220 2,469,720 217,500
2 1,988,000
[ 203,000
2 496,220
FEENCEINGEE 21,220 79.720 58,500
EEEEE 21,220 79.720 58,500
201 LBt2y| 4,920 37.320 A32,400
01 At222lH] 4,920 8,520 A3,600
OOleH&2t PPTHIE 1,500,00024%23 3,000
SEELHOIEPSEREEESS)
8,0002*301*80A! 1,920
202 OiH| 9,900 9,900 0
NETRE 9,900 9,900 0
Ol PSEI=IEES-
200,0002*301* 122 7,200
OSEXSX| Y284 100,000 %3019 2,700
203 APEZIY| 1,000 1,000 0
03 Al ERHPREEIL 1,000 1,000
Gl EPSERUNEL el =E=pY| 1,000,000 1,000
401 A& LSO 5,400 29,000 123,600
01 Al&H] 5,400 29,000 123,600
OMOISZ2DEISX =8 FHI(ZHD| S)
1,800, 0002 %33 5,400
FOIX|S MEBOIA M 2,666,000 2,390,000 276,000
2 1,988,000
= 203,000
2 475,000
2K SUHE FHOUXSE MENA HEALY 517,000 516,000 1,000
(MSoSANY)
2 382,000
< 40,000
2 95,000
403 X XISHHIERH=0IH 517,000 516,000 1,000
2 382,000
< 40,000
2 95,000
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2A:
PSP R
S

NEERSh!
DigEes AT
F/HXIS) M0 I

= V1T

HEE

2A - ZH - HA(S) - MRAIY - BES Oll & Ol Ak ot HnsZ
E=SIFE [ ENEE T =N ] 517,000 516,000 7,000
OL2XI7 S0E FOKI MBI IHE
NETOVETEINESD 517,000,002 517,000
= 382,000
= 40,000
z 95,000
SIS S01= XS MEGI HEAY 582,000 583,000 AT,000
(ME0rSAr)
= 436,000
= 44,000
z 102,000
403 XIXISHSRE01R 582,000 583,000 AT,000
= 436,000
< 44,000
z 102,000
02 2D TS UTHE =R | ETA ] 582,000 583,000 A1,000
OYSHAIT S0E FOKI MB0IA IHE
A (MZ0HS AI) 582,000,002 582,000
= 436,000
< 44,000
= 102,000
HIK 7 SOIE oS ME0IA HEAI 544,000 544,000 0
(MEOrSAr)
= 408,000
< 41,000
z 95,000
403 XX RIS KH=0I & 544,000 544,000 0
= 408,000
< 41,000
= 95,000
02 2II TS UTHE A= R | ETALIH] 544,000 544,000 0
OEXKT SHE FOX M2OIA HE
JNEOVEEINES) 544,000,002 544,000
= 408,000
< 41,000
= 95,000
TAKIT SOIE FOKIS MEO0IA HEAI 516,000 516,000 0
(M=0H2AIY)
= 383,000
< 40,000
= 93,000
403 XX RIS KH=O0I & 516,000 516,000 0
= 383,000
< 40,000
= 93,000
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SA NSZEL
HE: QRS MYEE
el FRS MEAH IHM (Ctol: ®M2l)
SA - B - BRI(E) - MRAY - BaS ofe Gl HImS2
02 S 2SS0t ett=H AL 516,000 516,000 0
OTAKIT SO0i&E FOHKIS] ME0I2 HE
A (ME0HSALY) 516,000,000& 516,000
= 383,000
& 40,000
2 93,000
HENT SOIE HoXS M20A NEAL 507,000 0 507,000
(ME0HSAN)
= 379,000
& 38,000
i 90,000
403 AXISHISAH=01A 507,000 0 507,000
= 379,000
= 38,000
i 90,000
02 SJ12S0ICHE A= E 2 S A 507,000 0 507,000
OUEXNT sHE FHAXS 4202 IHE
A (AEDIS ALRY) 507,000,000 507,000
= 379,000
= 38,000
i 90,000
SNSRI 243t 3,000 2,700 300
SN2 3,000 2,700 300
SEX=x 29 3,000 2,700 300
201 28H=3| 3,000 2,700 300
01 At22telH] 3,000 2,700 300
OFNFA & HIZ
20,0002 %100k 2,000
OFNRAI?ES Be+E
100,000&*10¢! 1.000
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